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Section|: Number‘s, oPerations and r‘e|qtions|'\ips

L. There is 100 small blocks in each block. Count. in groups to he|P

you. Write the total amount of blocks in the box.

\)

= 1000

.2. ComP|ete- Count forwards and backwards.

.21, 900, 920, 940, 960, 980, I000.
.2.2. 1000, 998, 996, 994,992, 990.
1.2.3. 970, 975, 980, 985, 990, 995, 1000.
.2.4. 750, 800, 850, 900, 950, 1000.
.2.5. 1000, 975, 950, 925,900, 875, 850.




.3. ComP|ete the table b':] fil |in3 in the number names and number

Symbols. (5)
Number name Number symbol
six hundred and eighty-five 685
eight hundred and sixty-two 862
four hundred 400
three hundred and twenty-two 322
five hundred and seven 507
(2)

M. Look at. the Fo”owing numbers and answer the cluestions.

qu\

|.4..|. Arronge the numbers in the balloons from the smadllest to

the |qr‘3est. (1)

988,989,990, 991,995, 999.
|.A.2. Ar‘r‘onge the numbers in the bdlloons from the |c|r‘9est to

the smadllest.

\)

999,995, 991,990, 989, 988..1.
3




|.5. Fill in more than or less than between the Fo”owing numbers.(2)

.51 999 is more than 989 \)

|.5.. 818 is less than 88| (1)

|.6. Bredk the fol |owin9 numbers up in hundreds, tens and units. (A)

1.61. 649 =600+ 40 +9 (2)

.6.2. 880 =800 + 80+ 0 (2)

. 7. Solve the Fo”owing Pr‘ol:>|ems. You have t.o show your caleulations

and write a number sentence. (8

7). Ben would lke to go to Gold Reeff Citlj with his friends.
Tt costs RI25 to enter. His father tells him to wash

PeOPle'S cars 'FOI" R25 HOW mcna cars WI” Ben l‘\GVG to

6 WGSl‘\ |oe1c‘or‘e he hGS enough moneg? (A)
Count, in 25's till 125
25+ 25+ 25+ 25+ 25 = [25. He has to wash 5 cars, because there is five 25's.
OR
2 marl(s 'F\Or‘ number‘
125 +5=
sentence.
=00+ 25) = 25
* . 2 marks for correct.
= (00 + 25) + (25 + 25) caledlation.
= A + |
=5 Ben must wash 5 cars.
Number sentence: 25+ 25+ 25+ 25+ 25 = 125 OR 25 +5 = 5 cars

A




the train?

598 - 17 =

=(600 +90 +9) -0+
=(500 -0 +(90-10)+(7 -8
=500 +80 +1

= 58] passengers lef't on train

|72 Ther‘e are 5q8 PGSSGHSGF‘S on a train. |7 POSSGHSGF‘S

Climbs of f the t.rain. How many passengers are left on

(4)

2 mcr‘l(s {E)P number‘

sentence.

2 marks for correct.
caleulation.

Number‘ Sentence: 598 - I'7= 58| passengers left. on train.

8. A manis se”ing Pqnches. A |qc|3 asked if her [2 Pqnches can

be divided eq{uc”g into 3 bqgs. He|P the man to divide the

Pqncakes equq||3 into 3 bogs below and then answer the

cluestions.




|.8]. How many groups do you count.? 3 (1)
|.8.2. How many Pqnches are in each gr‘oup? L (1)
.8.3. How mMany Pqncokes are there o|toget|'1er‘? 12 (1)

|.8.4. Write a number sentence: 3+3 +3 =12 (I

9. Mental maths - Complete. (10)
0. 25+ 25+ 25 =75 £.200 + 200 = 400
b 25 morethan 250 = 275 g 900 + £ = 904
¢. 5 more than 85 = 90 h. 800 — 5 = 795
d. | less than 8= 80 . 880 + 100 = 980
e. | more than 79 = 80 L b+b6+6=18

lI0. Choose which fraction is shaded. Color the correct answer.

g 4

—

| third half’
| clluqr‘ter‘ c]’ucrter*
half’ three
oLuqr‘ter‘




LII. He|P the Easter BunnH to color the Easter eggs in the
fol |owin3 ways. (2)

A

~

| q{uqr‘ter‘ two thirds

l12. Divide the 7 chocolate bars between 3 friends so that
everyone gets the same amount. of chocolate. Draw a

Pictur‘e to show your answer. (2)

Each friend 3ets 3 chocolat.e bars and the last bar is divided in 3.
Thus each friend Sets 3and as.

| mar‘|< 'FOI" dPGWihS Ghd I mor‘|< 'FOI" answernr.
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1I3. Add up the money in every row and write the

box. (5)

totalin the

k}:L.—.u.‘

ADI354414 0
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|.M.. Addition and subtraction (|0)

Do the Fo”owing sums. Show dll calculations.

A 525+ T2==C (5) | | B. 839- [87/=0 (5)
— (500 + Ol + (20 + TON + (5 + 2N = (800 - 00 + (80 - 30l + (9 - Tiv
=500+ 90 + Iv =700 + 40 + 2v
_ 597y = T4
C. 39 - 3=0 (Lx4=2)

=(30+9+3

=(30+3)+ (9 +3)

=10 +3

=13

Total Sectionl: __ / 65




Section 2: Pctter‘ns, functions and q|9ebr‘q

2. Equncl the f\o”owing Potter‘ns on|3 once. (2)

O@UAA O@UAA

. OAO CAO VAO

O@LIAA

2.2. Comp|ete the Potter‘ns in the table. (6)

'ANOO |AA | OOIAA

ALY ALY A

2 | | Y | | Y

2.3. Look at the Potter‘n of the floor tiles and extend it two
times to the r‘igh‘b. (1)




2.4. Describe in words what You see in the f\o”owins Pqtter‘ns. (2)

a. 550, 600, 650, 700.
Rule: Count. forwards in 5's. (1)
b. 275, 250, 225, 200.
Rule: Count. backwards in 25's. (1)

Total Section 2: ___/I0




Section 3: Sche and Shape
3.l. Write down the names of the f\o”owing shoPeS in the blocks. (2)

N
"~

N~

c3|inc|er‘

cone

3.2. Does the Fo”owing shqpes have curved or flat sides? Color
the Pight, answer-. (2)

CUPVGd CUPVGd

tlat tlat

3.3 Moake a v on dl the shqpe with the correct sgmmetr‘ﬂ lines.

************************ DI




3.4. Look at the Fo”owing Pictur‘es in the box. (A)

e Color dll sPl‘\er‘e Pictur‘es with blue. (2)
e Circle dll the ol:zjec:ts that are Prisms. (2)

blue

& (O

blue

[
_V

3.A.tht do we cdll the shqpe in the Picture? Write your answer
below. (1)

Pﬂr‘qmicl

Totdl Section3: ___ /11




Section A: Measurement.

A.L Measure how |on3 the Penci| is and write down the |en9th (1)

1 2 3 4 5 6 /8 9 10 M

— 8cm

A
L N
AT T TN
v

4.2. Look at. the times and draw the hands of the watches. (2)

twelve o'clock q,uor‘ter‘ qut
three

4.3. Write the time of the clock. (1)

half qut five




44 Ar‘r‘qnge the items weight from the smadllest to the |c|r‘9est

in the table bﬂ Wr‘iting down the item's Weight and name.
(Lx%=2)

'SNOWFLAKE

CAKE WHEAT
FLOUR
to flo

rice flour weights sugar
Ttem Weisht
Flour kg
rice 2|<9
weights 3|<3
sugar 5k9
4.5. Circle the mass which is the biggest. (1)
750g kg 900 2.5kg
4.6. Circle the mass which is the smadllest. (1)

@ kg 35g 900g 25k

4.7. In what unit is volume measured? Circle r‘ight answer-. (2)

|(i|03r‘om kilometers

Tot.al Section A: /9
15




Section 5: Data and|in9
8

SEEIEIE]IE

SElE
SElE]E
SElE

£5)

0

Col(e FGthJG Gr‘qu Cr‘eqm SOdG Pepsi SPor‘ber‘r‘H

Answer the q,uestions:

. Which cool drink does the children lke the most.?
Coke (l)
2. Which cool drink does the children lke the least.?
PePsi (1)
3. Which cool drink does the children like ecl,uonﬂ?
Fanta grape and SPar‘ber‘r‘H (2)
A. There is § more chidren who like Coke than Fanta G’I"CIPe.(l)

5. Write a title for the Pictogr‘qph Learners own heacling (1)

Total Section5=___/5




